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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET:DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4, This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

5.  You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6.  All items carry equal marks.

A Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has lﬁen given by the candidate, one-third of the marks assigned to that question will be deducted as
penaity.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.
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1. What is the value of o (o0 # 0) for which|5. What is the positive value of m for which the

x2 — 5x + o and x% — 7x + 20 have a common roots of the equation 12x2 + mx + 5 = 0 are in
factor ? theratio3:27?
(a) 6 (a) 5410
(b) 4 5410
() 3
5
(d) 2 (c) =
@y 22
2. How many numbers from 1 to 1000 are 5

divisible by 2, 3,4 and 5 ?
6. Let f(x) and g(x) be two polynomials (with real

(a) 16
coefficients) having degrees 3 and 4
(b) 17 respectively. What is the degree of f(x)g(x) ?
(d) None of the above () (7
() 4
3.  What are the factors of x° + 4x%— 11x—30 ? (d) 3

(a) (x—-2),x+3)and (x+5)
7. If 5x3 4+ 5x% — 6x + 9 is divided by (x + 3),

(b) (x+2),(x+3)and x-5) then the remainder is

(¢) (x+2),(x-+3)and (x+5)

S —peSTe) 135
d &+2),x-3)and(x—5) &y —~135
(c) 63
4. Ix = 111...1 (20 digits), y4= 839¥...3 (d) =63

10 digit d z =222 ...2 (10 digits), th
( igits) and 2 ( e, taen 8. The product of two non-zero expressions is

.
whatis = zy equal to ? (x + y + z) p°. If their HCF is p? then their
LCM is
Gy =
2 (a) E+y+2z)
B 1 (b) (x+y+2)p>
0 2 () E+y+3z) p5
@ 3 d E+y+2z)p
STS-M-TPT (2-A)
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1. « (a#0) % 98 WA @ 8, Es fow
x2 = 5x + 0 3 x2 - Tx + 20 F1 Th HE UGS
B B ?
(a) 6
(b) 4
() 3
(d 2
2. 1% 1000 d% fhaft Tad 2, 3, 4 3R 5.
farsa 2 2
(a) 16
(b) 17
() 32
(d) 3I9Yw W 4 SIS A&l
8. X3+4x2—11x—30%'ﬂ'°'|7|7@.37$’ﬂ§?.
(8) (x—2),(x+3) 3R (x +5)
(b) (x+2),(x+3) 3N (x—5)
© (x+2),(x=3)3M(x+5)
d) (x+2),(xs3)S (x - 5)
4. IR x=111...1 (20 3H),
y =333 ...3 (10 31%) 31
z =222...2 (10 31%) &, @ 7y {ET:ED
T 3 ? ’
@ 7
(b) 1
(0 2
(d 3
STS-M-TPT

(3-A)

m 1 98 YATHS HH F1 7, foraeh forg wfieon
12x2 +mx +5=0%% YT 3: 27 AU H § ?

(a) 5410

5J10

(b) 12

() —

d —

A e flx) 3R g @ Sgug (It
TuTehl o @) &, foreht feft shaem: 3ot 42 |

fx)g(x) St feaft &= 7 2
(a) 12

) 7

e , 4

@~ 3

Ffe 5x3 + 5x2 — 6x + 9 B (x + 3) W fawfora
fopa STem 8, Y 9o = R 2

(a) 135
(b) -135
(c) 63
(> —-63

Tl YA SSTeh! BT OHBA (x +y +2) p> & |
Iy I7eT HETH GUYEdE (HCF), p? 2, a1 I
EAH HIEE (LCM) T & ?

(a) (E+y+2)

(b) (x+y+2z) p?
() x+y+2)p°
d E+y+2)p
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9. If the points P and Q represent the real|12.
numbers 0-83 and 0-62 on the number line,
then the distance between P and Q is

21

(a) %
19

b e
(b) 50
|
(C) ‘m

13'

56

d Lais
(d) 90

10. Sudhir purchased a chair with three
consecutive discounts of 20%, 12:5% and 5%.
The actual deduction will be
(a) 335%

(b) 30% 14,
() 32%
(d) 35%

11. A fruit seller has a certain number of mangoes
of which 5% are rotten. He sells 75% of the
remainder and he is left with 95 mangoes.
How many mangoes did he have originally ? 15
(a) 500
(b) 450
() 400
(d) 350

STS-M-TPT (4—A )

If a train crosses a km-stone in 12 seconds,
how long will it take to cross 91 km-stones

completely if its speed is 60 km/hr ?
(a) 1hr 30 min
(b) 1hr 30 min 12 sec
(¢) 1hr51min

(d)

1 hr 1 min 3 sec

In a 100 m race, A runs at 6 km/hr. If A gives
B a start of 8 m and still beats him by

9 seconds, what is the speed of B ?

(a) 4'6 km/hr
(b)  4-8 km/hr
(¢) /52 km/hr
(d)- | 54 km/hr

The quotient of 8%® — y® when divided by
2xy + 4x% +y? is

(a)—2xy
(b) x+2y
(€)' 2x-¥
d 4x-y

If (x + 2) is a common factor of x2 + ax + b and

x% + bx + a, then the ratio a : b is equal to

(a) 1
(b) 2
() 3
(d) 4

Join Telegram : https.//t.me/defenceekaksha
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9‘

10.

11.

STS-M-TPT

" (a)

afg forg P oflt Q Fe Y W arwafas wens
0-83 31 0.62 ! fF&fd @ &, @ P 3R Q
Fdafighang

21
90

19

(b) 90

21

(c) m

56

(d) 90

T AT AT 20%, 12-5% 3R 5% o e,
gefR 3 s FEl wlid | FEl o S wed
1 BT 2

(a) 835%
(b) 30%
() 32%

d) 35%

T B fashar & uw U Hivea fem § oM
2, fomd & 5% @ g 2 | 9% AW AW+ 75%
a9 AT & 3R IUF IW 95 M &9 I B |
AN H 3Tk ITE foha 31 o 2

(a) 500

(b) 450

() 400

(d) 350

12.

13.

14.

15.

(5-A)

s i fafga eer o9 W 1 km for@n 2, =1
R % # e Th ¢ 12 Uehs od! ], A1 Th
TH oo W 58 W 91 km for@n &, o @@ IR
w H 3 fpam @ oty 9z A i onfa
60 km /52T & ?

(a) 1% 30 e
(b) 179l 30 fire 12 Ohs

() 19 51 e

(d) 1*a'a 1 fire 3 O

100 m ! T Se W A, 6 km /521 T Sear & |
i A, B %l 8 m 30 & dfed i f@ma a8
3T 5T ft B &1 9 Ohs © B0 2a1 B, o B <hl
=T &1 8 2

(a) 46 km/&T

(b)  4-8 km/=eT

(¢) / 52 km/EIeT

(d) 54 km/ERT

8x3 — y° @l 2xy + 4x% + y2 ¥ fowfoa +@ w
WIS &1 BT 2

(a) 2x+vy
(b) =x+2y
() 2x—y¥
(d) 4x=y

?Tfa(x-i-Z), x2+ax+b M x2 +bx +a bl Teh
od UGS 7, T STII a : b fohHH S § 2
(a) 1
(b)y 2
() 3
d 4
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16. Let 19.
flx) =ayx" +a, kG a, 02 4 . a a,_(X+a,
where a, a,, a,, ..., a_ are real numbers.
If flx) is divided by (ax-b), then the
remainder is
(a) f [Ej
a 20.
(b) f[— 9]
a
a
£l 2
(e) [ b]
d -2
(d) ( bj
17. Consider the following numbers :
1. 2222 21.
2 11664
3. 343343
4 220347
Which of the above are not perfect squares ?
(a) 1,2and3
(b) 1,2and4
() 2,3and4
22,
(d 1,3and4
18. The product of the polynomials (x + 2), (x — 2),
(x3 - 2x% + 4x — 8) and (x3 + 2x2 + 4x + 8) is
(a) x8-256
(b) (x*-16)
) (x*+16)2
@ G2-9t
STS-M-TPT (6-A)

The factors of x (x+2) (x +3) (x +5)— 72 are
(a) x,(x+3),x+4)and(x-6)

(b) (x-1),(x+6)and (x2 - 2x —12)

() " (x—1),(x+6)and (x2 + 5x + 12)

(d) (x+1),(x-6)and (x*-5x - 12)

If the HCF of polynomials
fix) = (x — 1) %2 + 3x + a) and
gx)=x+2)x2+2x +b)is (x2 + x - 2),

then what are the values of a and b
respectively ?

{a) 2.2

(b) 2,-3
() -1,-3
d -2,-1

a, b, e, d are non-zero integers such that (ab)
divides (cd). If a and ¢ are coprime, then which

one of the following is correct ?

(a) aisafactorofe

(b) aisafactor of b

(¢) aisafactorofd

(d) disafactorofa

If the roots of the equation
a(b—c)x2+b(c—a)x+c(a—b)=0are
equal, then which one of the following is

correct ?

(a) 2b=a+c

(b) b?=ac
2 1
(e) E—- +E‘
1 1 1
(d) E_E-'-E
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16. HH g 19. x(x+2)(x+3)(x+5)—72% AES &
f(x)=aoxn-kalxn‘1+512::“‘2+...+an_1:~c+.elrl (a) x,(x+8),(k+4) 3R (x—6)
®, &l ag, ay, a,, ..., a, TR G ¢ | (b) (x—1), (x +6) I (x% - 2x — 12)
qflﬁi%ﬂaxg@ilx?_ o GRS () (x-1),(x+6) 3 (x2 + 5x + 12)
” @) (x+1),(x—6)3M (x2 - 5x—12)
(a) f;)
. 20. I TR flx)=(x-1)xZ+8x+a) IR
(b) f—;) g(x) = (x + 2) (x? + 2x + b) T HEAH HHIIh
' (HCF), (x2 + x — 2) 8, dl a 3 b % AF HHL:
© 2] ¥ 7
(@ 2,2
e B
. [ b) ®)  2,-3
© -1,-3
LG |
17. Tr=fafaa deaeti « ffmm Hiw
1. 2222 21. a, b, c, d 39 YHR % IR UITH & 76 (ab),
2. 11664 (ed) @1 feremSrg shtar B | 92 a 3R ¢ THRISY
3. 343343 %:?‘Efis"qi%ﬁﬁﬂf*.@f@q-m?&"f%?
4. 220347 (a) a,c ¥ TUFEE B
IS # ¥ -4 ol e 78 8 2 (b) a, b UFAES 3
(a) 1,231 3 (c) a,d THES &
(b) 1,23 4 (d) d,a -GS 8
(c) 2,33 4.
@ 1,334 22. AR FFW
ab-ex2+b(c-a)x+c(a—-bh) =0% qd
R &, @ Fefofga A @ snar a2 2
18. WEWI (x + 2), (x - 2), x° - 2x% + 4x - 8) 3 (@) 2b=a+c
(x3 + 2x2 + 4x + 8) ST UFHA T 8 ?
(b) bZ=ac
(a) x8-256
D o
4 2 A e I
(b) (x*-16) Q) F=_We
4 2
() (x*+16) & 1:1+_
(d) (x2-4)* b a ¢
STS-M-TPT (7-A)

Join Telegram : https.//t.me/defenceekaksha




23. The non-zero solution of the equation
qIE R b-x cC—X b—x?
= = = , Wwhere
bx c b cx
b#0,c#0 is
b? +ac
(a) ———
_bz +c2
b2 —ac
(b) T
b2 —ac
(c)
b2 + ¢2
b? +ac
(d) B3
24. Ifkis an integer, then
2% 4 T 14[1;2 3 %J =0 has
(a) Both integral roots
(b) At least one integral root
(¢)  Nointegral root
(d)  Both positive integral roots
25. How many numbers between 500 and 1000
are divisible by 13 ?'
(a) 36
(b) 37
(c) 38
(d 39
26. To maintain 8 cows for 60 days, a milkman
has to spend ¥ 6,400. To maintain 5 cows for
n days, he has to spend ¥ 4,800. What is the
value of n ?
(a) 46 days
(b) 50 days
(c) 58 days
(d) 72 days
STS-M-TPT (8-
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27.

28.

29.

30.

A)

A student has to secure 40% of marks to pass
an examination. He gets only 45 marks and

fails by 5 marks. The maximum marks are

(a) 120
(b) 125
() 130
(d) 150

What is the value of u in the system of
equations 3 (2u + v)=Tuv, 3 (u + 3v) =11luv ?

(a) O
1
(b) 7
1
(c) 5
(4

Five years ago, Ram was three times as old as
Shyam. Four years from now, Ram will be
only twice as old as Shyam. What is the
present age of Ram ?

(a) 30 years
(b) 32 years
(e) 36 years
(d) * 40 years

Ram buys 4 chairs and 9 stools for ¥ 1,340. If
he sells chairs at 10% profit and stools at 20%
profit, he earns a total profit of ¥ 188. How
much money did he have to pay for the

chairs ?

(a) ¥ 200
(b) ¥ 400
(¢) < 800
(d) ¥ 1,600

. https://t.me/defenceekaksha




23, HHEHW a—x2 _ b-—x _ e b—xz, 27.
_ bx c b cxX
Gig‘fb;ao,c;eoé,a?w@m%?fw%?
b2 + ac
@ e
b2 — ac
R e
b2 —ac
i b2 +c2 28.
b2 +ac
b e
24, AR kT QUi B,
x2+7x—14(k2 - %] =0 HI/H
(a) QI IS OIS &
(b) HH-Y-HH Th Tl YoIih B
(c) 18 oft HeT quiieh & & Y
(d) QFl qe o Ui & |
25. 500 3R 1000 = == fHodl T=W@, 13 @
= 2 2
(a) 36
(b)y 37
(c) 38
(d 39
, ' 30.
26. TH GUATA ! 8 TEI T WIHEO 60 &I 7
0 & foU = 6,400 @ A Ysd & | 5 TN
W WOLgEY o f 9w % fag, 3w
F 4800 @4 HHAUSIE | nHTHFA FATE ?
(a) 46 T
(b) 50 f&m
) 58T
@ 72T
STS-M-TPT (9—A)

L]
LET’S LEARN TOGETHER ;

®

b ¥c)

T BT I fordl glien Y 9w F0 & AT 409
3 U] A B | 3T had 45 3T UG- BId ¢
A 98 5 M U B B AT 8 | ghem &

SAfreRaH 376 T & 2
(a) 120

(b) 125

(e) 130

(d 150

g ™

3(2u + v)="Tuv, 3(u+ 3v) = 11luv ﬁ, u <h
0 w1 R 2

(a) O

(b)

1

4

1
(C) E
1

(d)

gig av Ugel, W hl AP, W H g h
ot off | 319 @ 9R 9d 91, T i Y, W
=1 311G =l sheret AL BT | T Y S 31
FR ?

(a) 309§

(b) 3294

36 a9

(@ 4099

T T 1,340 H 4 AT 3R 9 WA @ligar &
afe a8 FRIEA | 10% 9 W R wal B
20% T 9T 994l 8, A I8 T 188 T Pl AT
Aar ¥ | B % e ® feaft e &R o
of ?

(a) ¥ 200
(b) ¥ 400
() ¥ 800
(d) ¥ 1,600

Join Telegram : https.//t.me/defenceekaksha




31. Which one of the following is a correct|35.
statement ?
(a) {x:x+65=5H}=d
(b) (x:x+5=5}={0}
(¢) {x:x+5=5)=0
(d) f{x:x+5=5)={(¢) s
32. If ab + bc + ca =0, then what is the value of
a2 b? 2
+ + ?
a?-be bZ-ca ¢ —ab
(a) 3
37.
b)) o0
(c) 1
(d -1
33. In an exa.mm' ation, 35% students failed in
Hindi, 45% students failed in English and 20%
students failed in both the subjects. What is
the percentage of students passing in both the
subjects ? 38.
(a) 0
(b) 20
(¢) 30
(d) 40
39.
4. What is & ; 20N Zi(z Gk 3 equal to ? |
EX-y)" +(y—2)° +(z—-x)
1
(a) e g
1
b )
(b) 3
(e) 3
d -3
TS-M-TPT (10-A)

° o ®
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The value of \/1 il +',/1 +...

(a) Equalstol

(b) Lies between 0 and 1
(¢) Lies between 1 and 2
(d) Isgreater than 2

If log,, 6 = 0-7782 and log,, 8 = 0-9031, then
what is the value of log;, 8000 + log,, 600 ?

(a) 4-6813
(b) 5-5813
() 15813
(d) 66813

30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is

(a) 24
(b) 18
) .
d 6

4 goats or 6 sheep can graze a field in 50 days.
2 goats and 3 sheep will graze it in

(a) 200 days
(b) 150 days
(¢) 100 days
(d) 50 days

A tap can fill a tub in 10 hours. After opening
the tap for 5§ hours it was found that a small
outlet at the bottom of the tub was open and
water was leaking through it. It was then
immediately closed. It took 7 hours to fill the
tub after closing the outlet. What time will be
taken by the outlet to empty the full tub of
water ?

(a) 35 hours
(b) 25 hours
(¢) 20 hours
(d) 17 hours
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31. F=fafed # @ $9-91 U 98l H9F 8 2 35
(a) {x:x+5=5)=¢
(b) Ix:x+5=5)=1{0)
(e) Ixrxed=bj=0
(d I(x:x+5=5)={¢) -
32. 'ﬂﬁ{ ab+bc+ca=0%,?ﬁ
2 2 2
aza—bc ’ bzb—ca ’ (:2C-ab Bl Tl Sl
B2
(a) 3 37.
(b) O
(c) 1
d -1
33. Wk qhen H 35% B o<l B B @/ T, 45%
B AU H e 8l MC SR 20% DH G T
T %a & Y | gl fawe 9w g arel ©1E (88,
< fcrsradr = & ?
(a) O
(b) 20
(0 30
(d) 40
39.
- (x —(::); i)(;y—_ zz))s(i ;zx—) x)3 by
@ -3
ORI
(0 3 -
d -3
STS-M-TPT (44 =AY

L]
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\/1+,/1+\/K &1 T

(a) 1%53133?1'{%

b) 03N 1Fd=H R
() 132+ d=d?
d) 28R

A log,, 6 = 07782 3N log 8 = 0-9031 ¥,
al log, , 8000 + log, ; 600 =T HF 1 R

(a) 46813
(b) 5-5813
(¢) 1-5813
(d) 6-6813

30 Sfth Ush i ol 40 foT H 90 =X wohdl @ |
i 24 fei & =g 30 =afea § ° $w 3 3
%1 i B fGan | FEhl 5= gQ AN 3 39 HE
1 W H b fow 40 7 R fow | w1 Big

e Tl SgfthAl oh! T T 8 ?
(a) 24

(b) 18

e 418

(d 6

4 ST AYET 6 He, Th @d @i 50 Al T =R
Thel & | 2 Sl 3R 3 9 39 @ I fohad
et d = ot 2

(a) 200 fe

(b) 150fcH

(¢) 1100 fed

@) 50f=

U F Bl e9 I 10 B¢ H WU Hehal B | T
WieH 5 U SE I8 9T T o6 2« il qeft 3
T Biel e gen gam o 3 e ¥ 9
@ @ o | 99 3 dob §e R e TR
A ¥ 1 & 9 ¥ B W H 769 @
gt 8 @ W g 2 i e < Aream @ el

0 T fora guy o 2
(a) 85%
(b) 25 %
(¢) 20%C
(@ 179
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40. A boy went to his school at a speed of|43. The difference between the compound interest
12 km/hr and returned to his house at a speed (compoun;ied annuajlly) and simple interest on
) a sum of money deposited for 2 years at
of 8 km/hr. If he has taken 50 minutes for the 5% ber T 1802 15. What 15 the: sroh of
whole journey, what was the total distance money deposited ?
?
walked ? @ ¥ 6,000
(a) 4km b) T 4,800
(B Bl © ¥ 3,600
(¢) 16km @ 2,400
(d 20km
44, When prices rise by 12%; if the expenditure is
41, If 78 is divided uFEREEC RIICH AT to be the same, what is the percentage of
¥ 1 consumption to be reduced ?
proportional to 1, S’ o then the middle part
is (a) 162%
3
28
@ T ®  [10Z%
(b) 13 3
: (e) ., 16-%
52 5
@ . =
@ 102%
a2 !
3
45. A man rows down a river 18 km in 4 hours
. with the stream and returns in 10 hours.
42. There are 350 boys in the first/ three Consider the following statements :
standards. The ratio of the number of boys in 1.  The speed of the man against the stream
first and second standards is 2 : 3, while that is 1:8 km/hr. '
of boys in second and third standards is 4 : 5. 2. The speed of the man in still water is
What is the total number of boys in first and 315 km/hr.
third starndards ? 3.  The speed of the stream is 1-35 km/hr.
(a) 802 . Which of the above statements are correct ?
®) 280 (a) 1and2only
(b) 2 and 3onl
() 242 d
(¢) 1and 3 only
(d) 230
(d 1,2and3
STS-M-TPT (12=K)
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40. T dSHl 12 km/AES 6 T § TRl 319 |43
TR T 3R 8 kny/HE Hl ATA A9 T ATEH
e | afe w6 foe sEe 50 fime form, ar
a8 o fepaHt gli = ?

(a) 4km
(b) 8km
(© 16km
(d 20km
44.

41, IR 78 # 3 fawdt d fwfm s S|
1,%,%%313%1?%,33{&%3@%@
fepamn @ 2
(a) %

(b) 13
@ 22
55
(d) 3 s

42. B! o FHEMST H P 350 ISk & | Ugedl R
e %k TSHl I WG H 2 1 3
I ®, Safh gl ot el wen | wgl
<1 AT BT U 4: 57 | gEelt 3R dEd
HETISN & TSI shl Pl T&AT fohat § 2
(a) 302
(b) 280
() 242
(d 230

STS-M-TPT (13-A)

2 991 & foTu 5% <ht arfier et o smT <6l T8 UH
g W TEhdlg A (ATMeh €9 A FAIA)
ST ETHNOT oA o1 3T T 158 | ST &l T8
g fdt w2 2

(a) ¥ 6,000
(b) ¥ 4,800
(¢) ¥ 3,600
(d) < 2,400

e gt § 12% $I gig B 9, R Ik @
eI S W& 8L, drdgad § feea ufqerd st
HET B 2

(a) 16?;—%
() 10%%
(c) 16135—%
(d) 10%%

Ush =4fth fepell 4l H €T o ©1Y 4 T H 18 km

die1 @ar g @i 10 ©el # 9wy ITar §

=g et W faem i

1. gt ¥ frada =afe # =l 1-8 km IR
g B |

2. B8 gY Ul # ATk I A 3-15 km T
"R |

3. o <l =T 1-35 km T =21 2 |

39T H & S8 HYT el § 2

(a) hae 13N 2

(b) <haw 2 3R 3

(c) <hael 13 3

@ 1,233
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46. If a triangle has sides 5, 13 and 12 units and 6 | 49.
is the acute angle of the triangle, then what is
the value of (sin 0 + cos 0) ?
b
(a) E
7
(b —
; 13
12
c —
(c) 13
17
(d —
13 50.
47. If 0<x< %, then (sin x + cosec x) is
(a) >2
(b) <2
() =22
d <2
2 _p2 51.
48. If sin0=2_"2 " and 0<6< E, then
m? + n% 2
what is the value of cos 67
2mn
(a) ————
m? +n2
2mn
b) ———
m?2 —n?
2 2
G At
2mn
2 2
m“ —-n
d et Ml i1
) 2mn
STS-M-TPT (14-A)
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If angle A of triangle ABC is 30° and the
circum-radius of the triangle is 10 c¢m, then
what is the length of side BC ? '

(a) b5cm

(b) 10cm

(¢ 5+/3cm
(d 1043 cm

sin 45° —sin 30°
cos 45° + cos 60°

If A= and

N W e which one of the
cosec 45° + cot 45°

following is correct ?

(@) A=B
(b)) A>B>0
() A<B
d B<A<0

If ® measured in radians is the angle between
the hour hand and the minute hand of a clock

when the time is 4 : 36 pm, then which one of

the following is correct ?

(a) —<0<
b — << —
(b) <0< 5
(c)

d -—<06x<

. https://t.me/defenceekaksha
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46. ufe wwk Bys 1 qod 5, 13 3 12 3T ¥ oMt|49. IR YR ABC T HI0T A, 300 B 3N e &
o fyst &1 =R 8, @ (sin 0 + cos 6) T WH i s FBSAT 10 em &, T YST BC i @18
R ? R ?
D (a) bHem
(a) —
13
() 10cm
i L
13 (e) 5\/§cm
© % | @ 1043 cm
17 sin 45° = sin 30°
i = ; =
& 13 50. = " cos 45°+ cos 60°
B = sec 45° — tan 45° % ?ﬁﬁ'ﬁl’%‘l"ﬁ@’dﬁ"ﬁ
"~ cosec 45° + cot 45°
47. q%0<x<—;—%,ﬁ(sinX+cosecx)% ﬁ'—{-FlTHEQf%?
(a) >2 (a) A=3
(b) <2 : () /A>B>0
el =4 (e A<B
d) =<2
(dd B<A<O
2 2 : = ;
48. :r%sine=m2‘nzaﬁw<e<g%,a‘rcose 51. afg 0, forehr 7 es # 7, Frelt wdt & =
| mam;9+n hl g3 3R e 1 g§ ¥ fi" w1 w0 B oW
&l . : |
auY 4 : 36 IS 2, o FEfafad § 9 sHE
G HE 82
m- +n
5 (a) 3—ﬂ<9<ﬂ
b mn
(b) = = \
(b) ?'”<e<?”E
(C) Ilf]12+112
e (©) %ses%‘-
mz—nz
(d) 2mn (d) Eses%
15 15
STS-M-TPT (156-A)
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52. Consider the following statements :

1. If 45° <6 <60°, then
sec? O + cosec® 0 = o? for some real
number o > 1.

2 If 0° < 6 < 45°, then LG9 = x2 for

| —cos O
some real number x > 2.
3. If 0°< 8 <45° then
cos O sin 0
+ >
1—tan® 1—cot®

What is the number of true statements ?

(a) Zero

(b) One

(¢) Two

(d) Three

53. Let AB represent a building of height h metre
with A being its top, B being its bottom. Let

A’B’ represent a tower of height (h + %) metre

(x > 0) with A" being its top and B’ being its

bottom. Let BB’ = d metre. Let the angle of

elevation of A’ as seen from A be 45°,

Consider the followiﬁg statements :

StatementI: h+x>d

Statement II : The angle of depression of B as

seen from A’ is less than 45°.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement I

(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I

(c) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true

STS-M-TPT

54.

56.

(16-A)

A man, standing at a point X on the bank XY
of a river that cannot be crossed, observes a
tower to be N o° E on the opposite parallel
bank. He then walks 200 m along the bank to
the point Y towards East, and finds the tower
to be N °W. From these observations, the
breadth of the river will be

(Given that tan o° = 2 and tan B° = 0-5)

(a) 60m
(b) 70m
() 80m
(d 90m

sin 1°

The walue of

where 1° represents
sin 1°¢

1l radian is

(a) Equaltol

(b) Lessthanl

(¢) Greater than 1 but less than 2

(d) Greaterthan 2

The diameters of two given circles are in the
ratio 12 : 5 and the sum of their areas is equal
to the area of a circle of diameter 65 cm. What

are their radii ?

(a) 12 cmand 5 cm
(b) 24 cm and 10 cm
(¢) 60 cm and 25 cm

(d) 30cmand12-5cm

Join Telegram : https.//t.me/defenceekaksha
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52. Trefafiad s ® fam Hifse .

1. 9f¢ 45°<0<60° &,
sec? 0 + cosec? 0 = o2 TorH} Ir=fers T
a>1%ﬁ-’m%|

2 aﬁ0°<8<45°%,?ﬁ 1+mse:x2mﬁ

1-cosb

STEfereh §&I x> 2 fu & |

3. I 0°<0<45°%, al
1f0tsaie+1iirclofezz%|

gl AT hl T T B 2

(a) I[HA

(b) Ush

© @

(d)

53. TH oSt AB, h Hi&®X R F TH TOHA & (55,
frefia wtar ® S8l A 391 Y AR B 3HeHT
a9 & | A difele AB, (h+x) | Hiet
(St x > 0) a8 6 T HAR B P B
2 el A’ 3o 3iY SR B SHI a1 & | A
STt BB = d Hiex 2 | 5 o A & <@ =
A’ T FI B0 45° 8 |
frferfaa et @ femm Hifsm
FI7I : h+x>d
FYT I : A'Y T@T TAT B 1 TGH Il 45° &

FHE | _ 56.
I HoET %k waW H Ffafed # @ s
G
() I I 3 e II gAT T& 8, 3N
A 11, e 1 h el A 8
(b) YA I 3R HUA I QA " &, T
e 11, A I 1 ) = e R
() YT ITE 8, T e 11 Td &
(d) [ 74 8, g oA 17 3
STS-M-TPT (7= §

54, T 441, @ 9 T fepan s oweRdr, % XY

o w, X fog W @er gen wh =tk @R
It TR R W T AR A N E &5
FER ¢@al 7 | fht 98 =afh feprt & @i g
fen & 3R Y forg 9% 200 m T B, R
Wt N pe W ot feufa o arar 8 | 59 Jaron
% STEN, T i =rers w41 B 2

(feam 71 8 6 tan o° = 2 31K tan p° = 0-5 8)
(a) 60m

(b) 70m

(c) 80m

(d) 90m

sin 1°

® AH w8, JE 16 1 Hema @

sin 1°
& Htar 8 ?

(a) 1 SRISK

(b) 18 A

(¢) 17 afees, fhg 20 9
(d) 29 3l

feu MY &1 It % @ 12 : 5% I o § 3N
Ik FABA! hl ANTHA, 65 cm IE T Teh
I & ST oh SUSK @ | Ih! Frsamd o § 2
(a) 12cm 3 5cm
(b) 24 cm 3T 10 cm
(¢) 60 cm 37 25 cm

(d) 30 cm 3R 12:5 em
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57. A hollow cube is formed by joining six|61.
identical squares. A rectangular cello tape of
length 4 em and breadth 0:5 em is used for
joining each pair of edges. What is the total
area of cello tape used ?

(a) 12 square cm
(b) 24 square cm
(¢) 36 square cm
(d) 48 square cm

58. Two straight lines AB and AC include an
angle. A circle is drawn in this angle which
touches both these lines. One more circle is
drawn which touches both these lines as well
as the previous circle. If the area of the bigger
circle is 9 times the area of the smaller circle,
then what must be the angle A ? b2, ;
(a) 45°
(b) 60°
(c) 75°
(d) 90°

59. An isosceles triangle is drawn outside on one
of the sides of a square as base in such a way
that the perimeter of the complete figure is
% times the perimeter of the original square.
What is the ratio of area of the triangle to the
area of the original square ?
ta) 1ad
(b) 2:8 63.
(@) . 152
@) - 3

60. What is the area of the triangle whose sides
are 51 cm, 37 cm and 20 cm ?

(a) 300 square cm
(b) 305 square cm
(¢) 306 square cm
(d) 307 square cm
STS-M-TPT (18-A)
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Segment QR of length r is a tangent at Q to a
circle of radius r with centre at P. What is the
area of the part of the triangle PQR, which is
outside the circular region ?

(a) T;r—;

(b) fzi - %2
(c) % b= ﬂf—:
(d) % - %2

In a triangle ABC, AD is perpendicular on BC.
Iy BAC SEUTNAR= ¢cBBC = a, CA = b and
AD = p, then which one of the following is

correct, ?

(a) p=abe
(b) p>=be
¢) p= i
(d) o= E}‘l

AB and CD are parallel chords of a circle 3 cm
apart. If AB = 4 cm, CD = 10 cm, then what is
the radius of the circle ?

(@) 7em
(b)  V19cem
(© 29 cm
(d 14cm
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57. ©: GAGH 9 Sl SIS Ush @iEdl B9 SR
™ 8 | FRR % U 3 # Wied & fore
4 cm TS 3R 0-5 cm SR I Th AATHR
Al 29 1 =@ fopar e ? | v | ffu
el 3 HT FA GABA fehaT 8 ?
(a) 121 cm
) 249 cem
(c) 36 91 cm
d) 48T cm

58. Tl WA @MW AB 3R AC T iVl §HMG & | 39
S H Uk g SR SAGT 8 S §9 QM1 e
HI 9% HAT 7 | Tl S SIS 8 S
3 qFl TErell hOEy-AY, Yge 9T o i
st Far @ | A o AT g9 o &, Bie
I I % SRS I 9 IAT &, I v A HI HH
TR 7
(a) 45°
(b) 60°
(¢) 176°
(d) 90°

59. Torell @i <t yometi A @ fohelt v I mER
AR, T AE UH GHIGHTE FAHT 36 FhR
s St @ fo dyof stepfa s afemd gwies
aﬁ%qﬁqwm%gm%lﬁﬂaé;mw,
TRIYe ol & SEhd ¥ AU F1 8§ 2
(a)y 1:1
() 2:8
) 1:2
d 1:3

60. 3T B +1 gFha fhawr 8, FEH yad
51cm,37cm3ﬁ'{20cm§?
(a) 300 97 cm
(b) 3059 em
(¢) 306 em
(d 30791 em

STS-M-TPT
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61.

62.

63.

(19-A)

r 9IS 6 TH W@Es QR, G or 3k
Hafeg P I TH g9 % fog Q W waeff ® |
s PQR & 3@ o= &1 S9wd #= 8, S
AR & & e R ?

(a) nlr—s

(b) % - %2—
(c) % = T—;
(d) % - E;_

qa%rgaABcﬁ, AD, BC W o« & | 3fe
Z BAC = 90°, AB = ¢, BC = a, CA = b 3
AD =p &, ot frfeifaa ®# & - 9 ? 2

(a) p=abc
(b) p?=he
(e p= =
a
(d p= 4y

AB 3R CD, T g1 =l duick Sfiard € St 3 em
G RE |4 AB=4cm,CD=10cm g,
a1 B wn g 2

(a) 7cm
(b) V19cm
() v29em
(d 14cm
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64.

65.

66.

STS-M-TPT

(b)

The diagonals of a cyclic quadrilai:eral ABCD
intersect at P and the area of the triangle APB
is 24 square cm. If AB = 8 ¢cm and CD = 5 cm,
then what is the area of the triangle CPD ?

(a)

24 square cm

(b)

15 square cm

(c)

12-5 square cm

(d) 9:375 square cm

In an equilateral triangle ABC, BD is drawn

perpendicular to AC. What is BD? equal to ?
(a) AD?
(b) 2AD?
() 3AD?
(d) 4AD?

The distance between the centres of two
circles having radii 9 ¢cm and 4 cm is 13 cm.
What is the length of the direct common

tangent of these circles ?

(a) 12cm
11 cm
(e) 10 em

(d 95cm

Join Telegram

67.

68.

69.

(20—A)

If PL, QM and RN are the altitudes of triangle

PQR whose orthocentre is O, then Q is the

orthocentre of the triangle

(a) OPQ
(b) OQR
(¢) © PLR
(d OPR

In triangle ABC, £C ="90° and CD is the
perpendicular from C to AB.

If (CD) 2 = (BC)2 + (CA)2, then which one of

the following is correct ?

(a) BC.CD=AB.CA

(b) AB.BC=CD.CA
(¢) 'CAZ+CBZ=2(AD? +CD?
(d AB.CD=BC.CA

If a point O in the interior of a rectangle
ABCD is joined with each of the vertices A, B,

C and D, then OB? + OD? will be equal to
(a) 20C2+ 0A2
(b) OC2-0AZ2
() 0OC?+0A2

(d 0C?+20A2
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64. T% wshig wqUS ABCD % fasui P w wftedg

F4 & 3N B APB 1 &5%d 24 1 cm B |
Ife AB = 8 cm 3R CD = 5 cm &, @l 1 CPD
T &TH 91 8 2

(a) 24T cm
(b) 1597 cm
(¢) 125 cm
@ 93753 cm

65. TH weg fAYS ABC #, BD, AC W weed
i<t meft @ | BD? fohEeh s 7 2
(a) AD?

(b) 2AD?
(c) 8AD?
(d) 4AD?

66. 9 cm 3N 4 cm it Bt ata & 961 % H
% ot it gt 13 cm B | 3 FEl B WIS
eI @1 Y T FAT 8 2
(a) 12cm
(b) 1lcm
() 10cm
(d 95cm

STS-M-TPT
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68.

69.

67. 9% PL, QM 3T RN, 38 BYsr PQR & fides

g TS 9 % 0 8, @1 Q, fpm e w1 @@
Eo A

(a) OPQ

(b) OQR

() PLR

(d) OPR

s ABC #, 2 C = 90° 3R CD, CH AB W
e 8 ) AT (CD) 2 2ABC)2 + CcA)Z R, @

ffoifiad & & -1 5t 2 2
(a) BC.CD=AB.CA
(b) AB.BC=CD.CA
(e) [ €A%+ CB?=2(AD? + CD?

(d AB.CD=BC.CA

If¢ TH HA ABCD & forelt ofa: fog O W
¥fif foFgati A, B, C 1R D @ SiteT S 7, @

0B2 + OD? forHe SR BT 2
(a) 20C2 + OA?

(b) OC?-0A?

() 0C?+0A2

(d) 0C?+20A2
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70. A cylinder of height 2x is circumscribed by a|73.
sphere of radius 2x such that the circular ends
of the cylinder are two small circles on the
sphere. What is the ratio of the curved surface
area of the cylinder to the surface area of the
sphere ?
(a) 3:4
(b) 3:3
(0 38:2 74.
d@ J3:1
71. A cylindrical vessel 60 cm in diameter is
partially filled with water. A sphere 30 c¢m in
diameter is gently dropped into the vessel and
is completely immersed. To what further
height will the water in the cylinder rise ?
(a) 20cm
(b) 15cm
75.
(¢) 10cm
(d 5cm
72. The vertical angle of a right circular ¢one is %
and the slant height is ¥2 r em. /What is the
volume of the cone in cubic em ?
(a) mr’
(b) 9mrd
3
nr
c —
(e) 3
(d) 3mrd
STS-M-TPT (22-A)

The radii of the frustum of a right circular
cone are in the ratio 2 : 1. What is the ratio of
the volume of the frustum of the cone to that

of the whole cone ?

(@) 1:8
(b) 1:4
() 3:4
d 7:8

From a solid cylinder whose height is 8 cm
and. of base'radius 6 em, a conical cavity of
height 8 cm and of base radius 6 cm is formed
by hollowing out. What is the inner surface

area of the cavity ?

(a) 67msquare cm
(b) / 8mn square em
(¢)  10m square em
(d) 607 square cm

A tent has been constructed which is in the
form of a right circular cylinder surmounted
by a right circular cone whose axis coincides
with the axis of the cylinder. If the radius of
the base of the cylinder is 50 m, the height of
the cylinder is 10 m and the total height of the -
tent is 15 m, then what is the capacity of the

tent in cubic metres ?

(a) 37500m
®) 87500x
3
26500n
(c) 3
(d) 25000%
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70. 2x S4TS 91T Ush S, 2x FST Ot U M

71.

72,

STS-M-TPT

¥ 3@ yehr ufurd ? fF dom % g BR, Mo

W TG I & | SAH 5 56 IS &G Hl
e o JSRT &hel | STITd T R ?

(a) J3:4

(b) 3:3

(c) V3:2

@ 3:1

60 cm ST AT Th SR S SATMRH &9
| T g & | 80 cm S A Th iRl
1 it & = frr s @ oiR 9E g aE &
39 W7 & | SSERR & H 9] fhaT SR 38
@ ?

(a) 20cm
(b) 15cm
(c) 10 cm

(d 5em

Th T W H A DR S g
ﬁl‘l‘eﬁvﬁ'rs: ﬁrcm%l?@aﬂwmcm
# foper 8 2

(a) mr

(b)

73.

74.

75.

(23-A)

Th A-gAN FH h oAb (EeH) h BHESEE
2:1% U U 8 | W & oa% & =
T, T I o AFAT o A1 AT FoheT 8 2

(a) 1:8
‘(b) 1:4
() 3:4
d) 7:8

6 cm SATUR =91 3T 8.cm F91E a1 Tsh 3
W@,GcmWﬁWﬁ'{Scmaﬁﬁaﬁf
UH 3 Wp FHepre o Smar 8 | 39 UK
o # fffa e 1 A gE SEwd
framz?

(a) 6n T cm
(b)| 8 em
(¢ 1073 cm
(d 607 cm

U e 1 T R T R S SE-addi dad
% W TS &g WF h ATHR H g, @l
T T 378, AT S G b T 7 | A ST
T IER ! B9 50 m, 99 H FEE 10 m
3ft a9 6l F S8 15 m &, a1 a9 hl &

(31aw) == Hiew # fohat & 2
(a) 37500m
87500m
(b) 3
265007
(c) 3
(d) 25000m
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76.

77.

78.

STS-M-TPT

Two rectangular sheets of sizes 21 x 4n and.
m X 5m are available. A hollow right circular
cylinder can be formed by joining a pair of
parallel sides of any sheet. What is the
maximum possible volume of the circular

cylinder that can be formed this way ?

(a) 4nr?

(b) 8n?
(¢) 12572

d) 625n?

In a triangle ABC, the medians AD and BE
intersect at G. A line DF is drawn parallel to

BE such that Fis on AC. If AC = 9 em, then
what is CF equal to ?

(a)
(b)
(c)

2:25 ecm
3 cm
4-5 cm

6 cm

(d)

In a triangle PQR, X is a point on PR and Y is
a point on QR such that PR =10cm,
RX=4cm,YR=2cm, QR = 5 cm. Which one
of the following is correct ?

(a)
(b)
(c) PX=QY

XY is parallel to PQ

PQ = 2XY

(d) PQ=3XY

79.

80.

81.

(24-A)

| (a)

Comnsider the following statements in respect

of three straight lines A, B and C on a plane':

1. If A and C are parallel and B and C are
parallel; then A and B are parallel.

2 If A is perpendicular to C and B is
perpendicular to C; then A and B are
parallel.

3. If the acute angle between A and C is
equal to the acute angle between B and
C; then A and B are parallel.

Which-of the above statements are correct ?

(a) 1,2 and 3

(b). 1and 2 only
(c) 1and 3 only
(d) <2 and 3 only

The diagonals of a rhombus are of length
20 em and 48 em. What is the length of a side
of the rhombus ?

13 cm
(b) 26 cm
(c) 36cm
(d 39cm

An arc of a circle subtends an angle n at the
centre. If the length of the arc is 22 cm, then

what is the radius of the circle ?

(Take &t = 272)

(a) bHcm

(b)  7cm

() 9cm
11 em

(d)
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76. 2 x 4n 3 1 x 5 ATHR F &l AAAHR IR
Iyerey & | forelt oft o <t T yemeTt %
S H et U @igal de-aeii sed s
T HhaT B | 9 YR ST ST Fohd AT I
S 1 ARIhaH Gd AT =1 8 ?

(a) 4mn2
(b) 8n?
() 12572
(d) 62512

77. T Ts ABC H, WifERE AD 3R BE, G W
yfaeoe w2 | BE & HHGR U W& DF 58
yehR Gt it } {6 fomg F, g5 ACR B | 3AfG
AC=9cmg, a QF fhdeh stex & 7
(a) 2:25 cm
(b) 3cm
(¢) . 45cm
(d) 6cm

78. % BT PQR #, PR W % fig X 3t QR
W TH fog Y38 IHR & B PR = 10 cm,
RX=4cm,YR=2cm,QR=5cm%I
feffea g a sl adt 2 2
(a) XY,PQd% A &

(b) PQ=2XY

(¢ PX=QY

@ PQ=3XY
STS-M-TPT

79. Uh HHAA W 9 T W3l A, B 3 C *

80:

81.

(25—-A)

Tey A, fFrafafga suat w fomm Shifsr

1. 9f¢ A3 C ¥HK & 991 B 3R C HK
& AR BHATR & |

5. ARk A, CRE R R B, CR A A
3 B EHTR B |

3. 3R A3 C% " % =i, B IR C
&+ Eﬁj% =IAhIV o S 7; A A 3 B
T & |

SO @ HH-A Wy Ug 8 2

(a) 1,233

(b) whad 137 2

(c) <hacl 131 3

(d)| ohael 2 3R 3

Uh TEEGHS o faehull shi TS 20 cm 3R
48 ¢ & | FHEgYS i T qST h des
2

(a) 13 cm
(b) 26 cm
() 36cm
(d) © 39 cm

T IA h TG Feg W I« Rk T R |
Ffg =19 61 9918 22 em B, 1 g9 H B =@

27 (n=22 <fiftm)

(a) 5cm

(b) T7em

(¢) 9cm
11 cm

(d)
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82. One-fifth of the area of a triangle ABC is cut |85. Consider the following statements : -
off by a line DE drawn parallel to BC such 1 e -pofoh of Intesadiog Gf S
that D is on AB and E is on AC. If perpendicular bisectors of the sides of a
BC = 10 ¢cm, then what is DE equal to ? triangle may lie outside the triangle.
@y ~Bem 2. The point of intersection of the
perpendiculars drawn from the vertices
(b) 245 em to the opposite sides of a triangle may lie
on two sides.
(¢ 3+5cm )
Which of the above statements is/are correct ?
(d 4+/5cm (a) 1lonly
- (b)... 2 only
() Both1land2
(d) Neither 1 nor 2
83. There are 8 lines in a plane, no two of which
are parallel. What is the maximum number of For the next five (05) items that follow :
s “ . Y 9
points at;which SEEEEEEEEE! | In’ a University there are 1200 students
(a) 15 studying four different subjects, Mathematics,
, Statistics, Physics and Chemistry. 20% of the
(b) 21 total number of students are studying
W Mathematics, one-fourth of the total number
C
of students are studying Physics, 320 students
(d) None of the above are studying Statistics and remaining
students are studying Chemistry. Three-fifth
of the total number of students studying
Chemistry are girls. 150 boys are studying
o o 4 4 Mathematics. 60% of students studying
84. A closed polygon has six sides and one of its PhyRleh 2R boys. 250 girls are studying
angles is 30° greater than each of the other Statisfite
five equal angles. What is the value of one of
the equal angles ? )
86. What is the total number of boys studying
(a) B5° Statistics and Physics ?
(b) 115° (a) 180
40
© 150° (b) 2
() 250
(d) 175°
(d) 310
STS-M-TPT (26 -A)
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82. U& TN ABC % &F%e 1 di=al f&&d1, UH
@l DE gl %Il T 8, @l DE, BC & THI®
39 YhR @iel 75 3 5 D, ABW 3 E, ACW
2 139G BC =10 cm 8, a1 DE fohass st 2 2
(@ 5em
(b) 2\/3(:111
(¢) 3+v5cm
(d 4+5cm

83. UHh GHadl § 8 @MW &, fomd & i off @ 1w
¥ iR 7€ € | frged 9w srfusem T
11 & T @ 3 yfo=de T gehdt @ 2
(a) 15
(b) 21
(¢ 28
(d) I F & HIE T

84, Th g gYW Hl ©: Yl & 3 IR TH
I, I e ST HIVT F 30° FST & | qUSH
Iv ¥ TRt T I 1 A R 2 86.
(a) 55°
(b) 115°
)  150°
d 175°

STS-M-TPT (27 =A)

®

85. Trafafad et w femm Hifse

1. T Brge & el & o= et @
icresg fomg Biyw & @t 81 wear 2 |

2. forelt s o, 3ueh vt @ wg@ yereii
W e Y sl w1 ufiesg faeg 3w
TIys 61 @ gemeT W B Tehar B |

ST H @ H-HUR weT wE B/ 2

(a) had 1

(b) =Had 2

(¢) 132 gHl

(d Far 1,782

T 3T e Gier (05) To-7911 & o707

ue fagafaeme™ § 1200 faeneff &, st =w fim
fewet — wifore, wifesh, sifoes fomm ok wmeE
fosm &1 o12rE o ® 8 | faenfiE 6 g
G ®1 20% O B TEEH W@ D,
faenfdi it $a T w1 ThAaE sifae
ORI <61 S18RIF W 1@ 2, 320 fomneff wifershi
1 T @ & AR (Y el wrm fmm
Sl ALY L © & | WA o5 &1 e
T ASlRAT & | 150 TSk UG T LTI
® 2 Yiftes Rem = sterm w0 T
ferenfel=n 1 60% 3T91 @S B | 250 wifRal
Hifeah! 1 7597 @ B |

Tifershl 3R Mifoe fagme &1 e @ T
TASHI hl Tl TEAT FT 8 2

(a)
(b)
(c)
(d)

180
240
250
310
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87. The number of girls studying Statistics is|gq,
what percent (approximate) of the total
number of students studying Chemistry ?

(a) 588
(b) 735
(@ 787
(d) 806

88. In which subjects is the difference between the

number of boys and girls equal ?

(a) Mathematies and Chemistry

(b) Statistics and Chemistry -
(¢) Mathematics and Physics

(d) Mathematics and Statistics

89. What is the difference between the number of
boys studying Mathematics and the number of
girls studying Physics ?

(a) 20
(b) 30
(c) - 60
(d) 80
93.
90. What is the ratio of the total number of boys to
the total number of girls ?
(a) 67:83
(b) 17:26
(&) 27+:19
(d) 189:179
STS-M-TPT (28-A)
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Frequency density of a class is computed by

the ratio

(a) Class frequency to the class width

(b) Class frequency to total frequency

(c)

Class frequency to total number of

classes

(d)

Cumulative frequency up to that class to
total frequency

A small company pays each of its 5 category
‘C’ workers ¥ 20,000, each of its 3 category ‘B’
workers ¥ 25,000 and a category ‘A’ worker

T 65,000. The number of workers earning less

thanr the mean salary is
(a) .8
(b) 5
() 4 y
(d 3

A man travelled 12 km at a speed of 4 km/hr
and further 10 km at a speed of 5 km/hr. What

was his average speed ?

(a) 44 km/hr
(b)  4+5 km/hr
(¢) 50km/hr
(d) 2-5 km/hr

. https://t.me/defenceekaksha
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GIEehl T AT A FTet TRl hi wee,
WA fagm &1 19 W a o T
T AT T AT Terd Sfdwa | 2

(a)
(b)
(c)
(d)

588
735
787
80-6

fop fawart o Trgehi oIk wiefordl 1 o & e
T A K & ?

(a) T 3R A fome

(b) wTfETeh! 3R WA o

(c) T 3tk ifies fomm

(d) IO 7R arfegeh

TG ST ALIT H ATl ASeh] i &I IR
ifee fomm &1 oM w0 9l asfea)
H&HT & o< T 3T HT B 2

(a)
(b)
(c)
(d)

20
30
60
80

AIEh! h! HoT T HT AS[hA! hl FoI HEaT A
ST AT B ?

(a) 67:83

(b)
()
(d)

17 : 26
27 : 19
189: 179

91.

92.

93.

(29-A)

forelt @t &1 IReRaT W e U g
aftehiera fopam imar 2 2

(a) = ST %1t Sl =S | I

(b) oA SRSRAT 1 Hohel TRIRAT H AT
(c) o ST T G T Pl T & I

(@ 30 T d% H Gl IRERAT H Gh
ARERAT § AT

T Bl HEH A O’ & TAF 5 HHEE
I T 20,000, ‘B’ T % TAF 3 wHEA B
¥ 25,000, 3R ‘A’ 9 & TH HHAM H
T 65,000 1 YIAH Sl 8 | ATET a4 § HA

ST AT FHHATRAT ! T fhat & 2
(a) 8
(b) 5
() 4
(d 3

Teh ATGHT 4 km/=IeT hl A & 12 km 1 IET
AT 8 3R R 5 koy/der Y =1 § 10 km i
AT KT 2 | ST 3 =1 =7 ot 2

(a) 44 km/5IT
(b) 45 km/SeT
(¢) 50 km/Hel
(@ 25 km/seT
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94, The pie diagrams on the monthly expenditure | 97,
of two families A and B are drawn with radii

of two circles taken in the ratio 16:9 to

compare their expenditures.

Which one of the following is the appropriate

data used for the above mentioned pie

diagrams ?

(a) ¥ 16,000 and ¥ 9,000

(b) < 8,000 and T 4,500

(¢) ¥ 25,600 and ¥ 8,100 98.

(d) ¥ 4,000 and ¥ 3,000

95. Consider the foﬂo‘nﬁng statements :

Statement I : The value of a random
variable having the highest
frequency is mode.

Statement II : = Mode is unique.

Which one of the following is correct in respect

of the above statements ?

(a) Both Statement I and Statement II are 99.
true and Statement II is the correct
explanation of Statement I

(b) Both Statement I and Statement II are
true but Statement II is not the correct|
explanation of Statement I

(¢) Statement I'is true but Statement IT is
false

(d) Statement I is false but Statement II is
true : 100.

96. Which one of the following is not correct ?

The proportion of various items in a pie

diagram is proportional to the

(a) Areas of slices

(b) Angles of slices

(¢) Lengths of the curved arcs of the slices

(d) Perimeters of the slices

STS-M-TPT (30-A)

The geometric mean of x and y is 6 and the

geometric mean of x, y and z is also 6. Then

the value of z is, ¥
(a) 12

®) 6

() 6

@ 6

The total number of live births in a specific
locality during different months of a specific
year was obtained from the office of the Birth
Registrar. This set of data may be called

(a) Primary data -
(b) Secondary data
(c)  Recorded data

(d) Countable data

The heights (in em) of 5 students are 150, 165,
161, 144 and 155. What are the values of
mean and median (in em) respectively ?

(a) 165 and 161
(b) 155 and 155
(¢) 160 and 155
(d) 155 and 161

The average height of 22 students of a class is
140 cm and the average height of 28 students
of another class is 152 cm. What is the
average height of students of both the

classes ?

(a) 144:32cm
(b) 145'52 cm
(¢) 146:72 cm
(d) 14792 cm
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®

94. 71 9RET, A R B % Wi @9 & Jana @i

95.

96.

STS-M-TPT

@

T AR 3Tk Gl ! g B b AT 31 T
1 P13 T AT 16 : 9 T@T T |

SHw affa garEt & fore wgw by e wd
sfepe, frfaRea § & s 8 2

(a)
(b)

F 16,000 3T F 9,000
T 8,000 3T ¥ 4,500
(¢) ¥ 25,600 3 < 8,100

T 4,000 37T T 3,000

Frefafaa s W =R Hifs

FY7 1 : fehan SRERAT STet ATgeoh =K 6l
A Sgeeh (d18) HEdrd € |

Fo 11 : Sk (Hie) Afgeta (31=1) & ® |

mﬁgm%mﬁﬁmﬁmﬁﬁﬁm

R

(a) HU I M FHIF II 4l wal &, AR
YA II, %A 1 1 FEl SR 8

w1 N ®ed II aFl H&l §, 9
HYT 11, HIT 1 1 Hal TIHT T8l 8

(c) T IEE 7, Td e ILTeid 8
(d) HF 1T B, T B 11 HE B

(b)

frfafaa 3 & #9781 w787 2 9

T gui@ H e og w1 orgum fees
HHTFITC BT ] 2

(a) %M % BTBe!

(b) I & HIT &
(c) TSN o Ik 9T h! TE=AT &
(@) 9 o IRET %

97.

98.

99,

(31 =A)

x 3R y T TUNTR HIET 6 & a9 x, y 3 z &I
TR H1e oft 6 % | A 2 T A o1 B 2

- (a) 12
) V6
() 6
@ Y6

S Usfieeh % wEied ¥, uw G ad %
fafts wEHT & SR e fafde wom ¥ Shfem
ST (wEEt) T pet wWEgr g i T | 3u
(3TThel) o S TH=I hI\FAT el ST Fhal & ?
(a) WM (F&9) 3™

(b) TiYoT 39T

(¢) STfufIREs 3uTe

(d) [ TOTHT 39T

5 foenferat &t FHemgatr (em ®) 150, 165, 161,
144 3 155 8 | 9 #rew 3R wifedmen
(Hifea) % 99 (cm H) sHHw: =1 € 2

(a) 16537161
(b) 155 3T 155
(c) 160 3R 155

(d) 155 AR 161

- | 100, T a5 22 faEnfdat i swd S 140 em

2 M Uk 3= wem & 28 et i sitwam
F91§ 152 cm § | 1 el & faenfiEt @
3Td SaTg TR ?

(a) 14432 cm

(b) 145:52 cm

(¢) 146-72 cm

(d) 147-92 em
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'SPACE FOR ROUGH WORK
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T T ATIHT Tg THLI0T Gieaest @i &1 7 FgT 1Y ad 7% 7 &ied
21, 1. =1, : STS-M-TPT wdterur gitent gwn

TteruT gieaent
TR it

aa : g a2 ) guries : 100
ERE

1. ofien U gH 6 Tg, ST 8 Tteror gierent it ggarer sEvd W R gE wig femn s,
mmqgrganwm;wm anfe A & | wfe v g, ﬁgﬁu’éu‘&mg@mﬁmvﬁml
2. HUA @ w6 fF OMR STR-U= H, ﬁﬂwm,ﬁﬁwaﬁzqﬂwgﬁm?
WE) A, B, C a1 D &, &4 & ﬁmﬁwﬁwmﬁaﬂﬁ%ﬂﬁaﬁt
Softgar i g | ﬁﬁd’fiﬁmaﬁ%ﬁ/ﬁwﬁ =t fedrfar o sav-wore faeea
3. 39 vty Yt W WY H QU ¢ AISSH S ST
JgeeuTeh forge 8 | e gieehr W S FE T e |
4. wqﬁamgffawﬁmom(w)ﬁqmﬁ|Wm%ﬁwmaﬁﬁw%|m
TR A AR TG (SR) o M E | 9 @ T Fegwl g W, S ST IAIAH W AR HEAT
a@%laﬁmﬂmaﬁ%@ﬁmmaﬁ% R 36 FegeR HY SAfH B ) AR FETH
W | TR T % 0 e U g7 Iegel g @ |
5. mmwmwﬁmmmmmﬁaﬁﬁamﬁlwmﬁﬁqmﬁ%mml
6. @Y TN % ik THH € |
7. wﬂqﬁé%aﬂqﬁwg@fﬂ%ﬁﬁﬁm% wmwaﬁ—dmmﬁaﬁ S IEEARCN|
T % | aqaish Wﬁﬁm%ﬁﬁ%l
8. 31g 3w LAl IA0TH § W % §IC q9T GUET % GHH W HFer IT-GAe s i
g 3 | AR O T GleTer IR o WM ot Siafd & |
9. W= M % foTT Tk wlien YRRt & 3d | S99 & |
10. TAd ST o foTU que :
TS ayA-uEt # sefiear g fRe T e I % forg gue fear @ |
G) wers T ¥ R 9R dwius I € | sufitar g yeis we & fore R e wek e I & fore s
¥g Ta fh o 3t 1 uw-faed que & w9 # HrRr S |
Gi) IR P Inficar tF A i I [T 7, A T I I T e, Jan Ry s A ¥ e W
e B }, R A 38 WA % fore Sweiger & e @ que femn e |
(i) 9 IEfiga grRY g T & T o Sman R, srerfq SfieER g SeR e foan S R, f S€ we &
fore =g que == fean smem |

T A HITIHT qg T GIAehT @ier? &1 7 FgT AC 79 a% T @il

Note : English version of the instructions is printed on the front cover of this Booklet.
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